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OPTION - A
Paper : CSC-HG-3016
( Programming in Python)

18 Atj.swer the following questions: 1x7=7
(@) What is Tuple ? ' |
(b) What is the output of type (3)?
(c) IDLE stands for __
(d) RO_(_.__“,I(k_sf_cands for .

(1 Each step of an algorithm is unique
and should be self explanatory.
(State True or False)
(g) _Python is a case-sensitive language.
(State True or False)
2. Define the following terms : 2x4=8
(a) Debugging -
(b)  Documentation
(c) Recursive function
(d) Head function

Which character is used in Python to
make a single line comment?
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3. Answer any three of the following:

5x3=15

(a) What is Python interpreter ? What is
the difference between intermediate
mode and script mode ?

(b) What are the differences between string
and list?

(c) Briefly explain multiple assignments in
Python with suitable example.

(d) What are the differences between flow
chart and algorithm ? :

(e) Explain exception handling in brief.

4. Answer any three of the following:

ol 10x3=30
(a) Write short notes on the following:
(i) Bitwise operator s
(ii) Top-Down Approach

(b) Briefly explain any five built in function
that are used in Lists. Give example.

() What do you mean by Python IDE?
Explain in detail.
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(d)

(e)

Write a program to create stack class
and implement all the methods.
Write a program to read a number and
check whether prime or not.

Write a program to check whether a
givén year is a leap year or not.
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OPTION-B

Paper : CSC-HG-3026
( Computer Network and Internet Technologies )
Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7
OoTe firl eMRIRT Tew e 2
(a) The term HTTP stands for
(Fill in the blank)
HTTP =5l 5ief ga foi
(<571 312 99 7))

(b) Peer-to-Peer is a network to ology.
pology
(State True or False)

Peer-to-Peer @ network topology Z |
(8% 7 §o% Ty 79)

() The maximum length (in byte) of an
[Pv4 datagram is

 (Fill in the blank)
bl IPv4 datagram-3 S 07 (byte ©)
EG | (T 2% 99 )

(d) If the system use separate protocol,
device is used to link two
system. ~ (Fill in the blank)
IM system & 7|4F protocol IIF FE
device ¥ %0 system FAT FRAE
IS F W (7! 12 o7 1)
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: | ey ohe 3. Answer any three of the following
fe) Data communication system within a -

building or campus is N ' i
(Fill in the blank) weTe WAl eHtals A fofanre T faat ¢
B! SGIE A campus< fooTo Ly CAAICata :
T3 T (4T 312 917 7) (a) Write the advantages and dlsadvantages
of star topology.
{f)  Write an example of star topology. Star topology= T4 SIFe SERAME Fial

Star topology-3 @b Twizse a1
(b) Write the difference between OSI and

(g} is the lowest layer of OSI model.
(Fill in the blank) TCP/IP reference model.
OSI model= W % w1 (@ : OSI WT@ TCP/IP reference model—'ﬁ' R[]
(T 12 97 W) AL T 4 |
2.  Write short notes on: ) 2x4=8 (c¢) Compare synchronous and asynchronous
oY (GBIt foval 8 data communication.
(a) Intranet and Extranet Synchronous ®lI% asynchronous ©<]J
NI Tere ge! I
Intranet 9% Extranet Dl
(b) Gateway and Router : (d) Explain IEEE 802-3 LANs.

Gateway ®II% Router IEEE 802-3 LAN-¥ 3w afai =411

(¢ URL and Web Browser
URL 9% Web Browser

(e) Distinguish between LAN and WAN.

LAN 1% WAN-3 icre i<y 31|
(d) E-commerce’
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4. Answer any three of the following
questions : 10x3=30

{a) Explain TCP/IP reference model. How
it differs from OSI reference model ?

TCP/IP reference model-3 &aca 357 31 |
OSI reference model-3 5791® 3319 A<y &2

(b) Create HTML documents with Ordered
and Unordered list, Inserting Images,
Internal and External linking.

g2 HTML document (€l T Ordered
% Unordered list, Insertings Images,
Internal 9% External link Ff@RE A |

(c) Explain Guided and Unguided media
with suitable examples.

BoTE Tz 7eIE Guided WS Ungmded
media I 41|

(d) Write a JavaScript program to find the
factorial of number n.

2] factorial GleRIALeT <61 JavaScript
program Tl :
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(e) What is data link layer ? Describe error

control and flow control mechanism
used in data link layer.

Data link layer & 2 data link layer I9Z®
error control %% flow control
mechanism-= 3@ 2o/ =4 |

Create a form using HTML which has
following types of control:

HTML © @35 Jg{e form IR TS O 10
T control R AU ¢

(i) Text Box

(i) Option/Radio Button

(i) Check Box

(iv)] Reset and Submit Button
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OPTION-C
OPERATING SYSTEMS
Paper : CSC~HG—3036/CSC—RC—SO16/TCA~HG-’RC—3016
Answer either in English or in Assamese

1.. Answer the followmg questions : 1x7=7

Al e Tew B e

(a) What is operating system ?

Operating system & ?

(b) Operating system is an application
software. (Write True or False)
Operating system @Bi application
software. (B% & ST fa3))

command is Lised to copy files in
Linux operating system.
(Fill in the blank)

e file copy WR I Linux
operating system © J<2{ € 2 |
(3T 312 979 70)

(d) What are the two main function of
operating system ?

Operating system-=3 757 32 forat & 2

(c)
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(e)

(9)

Define the following terms: 2x4=8

is called command interpreter in
Linux operating system. :
(Fill in the blank)

‘¥ Linux operating system-3
command interpreter 3@ A = |
(=T 3% 77 )

What is the full form_ of FAT? -

FAT- =4 % fo7all|

What is the purpose of Is command ?

s command-¥ Ty & ¢

welw 7l %% (2o AT ol ¢

(@)
(b)
(c)
(@)

Process
Head scheduling
Multiprogramming

Shell
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3. Answer any three of the following
questions : S5x3=15

weTs Tl eeiTaT sIat ARz fof! asia e ol ¢

(a) Write the _syntax of if statement used
in shell script with an example.
Shell script $ IR @A if statementI
syntax <! TWEIeR (1S o1l |

(b) Explain briefly the functions of
operating system.

Operating system-3 &1 [eTa 53 3efel

90 '

(c} Briefly explain the state of a process.
Process-¥ state W.E‘{ 3¢ 4 |

(d) What is system cell? Name three
system cells.

System cell & 2 o0 system cell-9 91 '

IGEIN

(e} Write short note on Process hierarchy.

Process hierarchy-3 a0 53 (Gl Gl
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4. Answer any three from the following :

_ - 10%x3=30
wete el AwicaiRs g fofbrs T a2

(a) What are the different types of operating
system ? Briefly explain each.

Operating system-< fen ooe @R & 2
BICE 601 4 | :

(b) What is a thread ? How does it differs
from a process? Explain the uses of
threads.

Thread & ? Process ®i% thread—= e
Si1e @R & ? Thread—=< I9YT 0 41 |

(¢ What is paging? Explain the
components of page table entry. When
a page fault occurs?

Paging f& ? Page table entry-3 ToAmI
f4eti iyl <91 Page fault (o9 2|

(d) Write a shell script to find the sum of
digits of a given number.

b1 TS S¢S ReAiss (Fiol T<I9 A 961 shell
script T2l |
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(e) Write a shell script to find the factors
of a given number. ' . OPTION-D
GO Y TeAmE @R SR @Bt shell ICT HARDWARE
script T4t Paper : CSC-HG-3046/TIT-RC-3016
M Write short notes on : | Answer either in English or in Assamese. |
(B! :
b fere 1. Answer the following questions as directed :
(a) First Come First Serve scheduling ‘ Ix7=7
~ algorithm .  weTe frml e Tes o IEIRGEIR:
(b) Shortest Job First scheduling " A . : .
algorithm (aA) ——__ was used in first generation
computers as their main component.
[Fill in the blank)

oy ~fRER SR TRe 3 S
Z51tet TRTe (e | (ﬁﬁﬁﬁf) .

(b) Full form of FAT is :
; (Fill in the blank)
FATI A fol o | -
(5T 512 99 1)

(c) Cache memory is costlier than RAM.
(State True or False)

Cache memory RAM (% @R el |
(8% @ &% @30)
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(d] Full form of SMP8is . .

(e)

(Fill in he blank)
SMPSI A ol g1
| (<=7 91% %3 F9)

64 bit processor can carry - the
amount of data than 32 bit processor.
(Fill in the blank)

32 & processor & 64 &6 processor-¢

b eI i Al |
| (30T 912 77 1)

. What is the latest version of Internet

Protocol ?

(i) IPv4

(@) IPv6

(iii) TCP

(iv) DHCP

(Choose the correct option)

Internet ProtocolS (*RORI FHIIE! & 2
() IPv4
(i) IPv6
(i) TCP
(iv) DHCP
(@5 Tesh! bz #)
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(9)

2. Write short notes on:

USB ¥Itd

USB stands for ;
(Fill in the blank)

(T 212 27 1)

2x4=8

5y (BRA feri ¢

(c)

()

3. Answer any three questions:

Functions of BIOS
BIOS-S functions R
Difference between CD and DVD

' CD W% DVD-F AP

Classification of computers
Computer< o8 (=TPRR
Different kinds of RAM
RAM-S [Ried aaR

5%3=15

e fofabr 2t Tes fordl 8

(@)

(b)
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Discuss briefly the new trends in HDD.
HDD 9 4RPTEs a0 530 Seebal 1 |

What is computer virus ? Write a short
note on antivirus software.

#{T519 w29 & ? Antivirus software—d
@sqe «ft 53 (I ferdll |
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(c) Explain about preventive maintenance
of optical media drives.

w%ﬁmwm%ww
e it =4

(d} Write briefly about different components.

of modern computers.

WWWWW\WWW.

IGRIN

(e) Write a short note on SMPS.
~ SMPS= soF® ¢t 53 Grm foral

4. Answer any three of the .following:

10%x3=30

T e il e EeS e

(a) Explain in brief different generations
of computers.

Computer-= Rfen SeFIPTRY RE B33 A1t
39

(b) What is file system ? What are the
different types of file system ? Discuss.
File system & ¢ Rf$n 393 file system
AR & & 2 SEwT =1
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(c)

(@

(e)

What are the different types of sockets
and slots found in motherboard ?
Explain each.

Motherboard © &g R®q socket S
slot 7 & & ¢ «cemeco! 57 31 |

Explain about Intel processor family.
What is the latest trends in processor ?

Intel processor AR F=ATE A 4
Processor-3 (*I2o 1l 4R & & 2

What is Network Interface Card?
Discuss network cabling used in
computer network. -

Network Interface Card & ? Computer
network © KT (! network cable Y29
fEc et 901

(f)/ Write short notes on:
o) IPraddress
(i) Virtual memory
5y (O ferat 8
(i) IP address
(ii) GG TN
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